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terminal board
(behind panel)

50k

blue

to watchdog relay
pin 2

2.2 k
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jumper for
manual operation
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"AUTO-RELEASE SPEED" pot

-24 (relay ccw-d pin 0)
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2.5V produces meter reading of 81.92 kips

 (  current =  [81.92/120] x 100 uA
= 68.3 uA =   2.5V /36.6k   )

Note: trim resistors so that 2.5V 
 produces meter reading of 81.92 kips

"cable 1 only" "cable 2 only"

to amp 2
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to amp1
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Jumper: Install only for totally manual
operation. Otherwise, store the jumper
in the control box.

totally manual operation (independent of Little Star)
1. install jumper
2. pull out watch dog timer relay
3. manually actuate control room emg stop relay
4. manually actuate brake off relay
5. monemtarily actuate safety relay to reset if necessary
 
AUTO-RELEASE SPEED pot becomes speed control
   midscale (2) is zero, full  cw is full speed down (increase tension)
                                     full ccw is full speed up (decrease tension)

1.5 k
0V (norm)
-9.7 V (jumper installed for man. testing)
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TIE-DOWN CONTROL CABINET p5a:   LOAD METERING AND AUTORELEASE SPEED POT
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